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NOTE: Write answers to t‘ e questions on obj
question are given.Which

nswer you consider correct, fill the corresp

question with Marker or peh ink on the answer sheet provided.

1.1. The tax charged on al‘g the taxable income is called:
2

2 ina", 7 iscalled:

(A) sales tax
(C) income tax

(A) radical i \

(B) radicand 7y

3. Next term of 12,16,21)27 is:

(A) 32 - B30
4. G.M between 1 and 81is:

@) 242 @ 22
5. 1f U=1{1,2,3,4}, A%{4}then A=7

@ {1,2,3.4} B 7
8. If y=3x then for x=2, we have y=7

(A) 0 (B) 6
7. z(X ‘}Z) = 0s one of the properties of:

(A) Airthmatic mean I

(C) Hormonic mean ‘le.ff/y
8. 20% of 600 is: |

(A) 12 ‘ (B) 120

g. Inaratioof alb, "a" ij called:

(A) extreme Jt;r'l

10. Ushr on wheat crop p oduced on natural resources amounting

(B) antecedent M;’d@ (C)

direct tax ‘f?:/ml/.
»

(B)
(D) excise duty Syl
_ugé":/”ui'a" ;
(C) exponent Ve d (D) base UV!
e Pfit12,18,21.27 .
©) 31 (D) 34
bl LB
© -242 © 2
A= A={a.U={1234 /.
© o {123}
y=??uf-’; x=2?yty=3x);l :
(¢ -3 (D) 2
v;rrtggfquﬂZ(X’yFO ‘
(B) Geometric mean bl
(D) Mode 31"
~£-20%8600 .
(c) 20 (D) 200
_ugji:("a"uﬁ:—ﬁ;a:b .
consequent J;(f ¥ (D) mean Yk

4%»150,0006‘.% JhedS e O3

Rs.150,000 is: v
(A) 10000 ‘ (B) 5000 (c) 15000 (D) 20000
11. The share of a widowiin inherited property ( in presence of children) is: B (A J»Zf& Uﬁl),ﬁw;tgtgbﬁwaug
1 | 1 I 1
(A 5 - B3 © 3 @ 3
12. CP=? ; ' sFed=
0Oxessped | 100xSP . -
) xe2oe T ) ybd -=sjed < Loss-SP
100+ &% - 100+ Profit%

©) .:,26»4.&;“4;{ . MP + Discount

13. The percentage of profit /markup charged is called:
(A) rate - @) time (¢

14. The periodic installm
(A) bonus u’.'/. (B) discount 23

45. The taxes in the form of dutie

(A) indirect tax

i
1

nt to be paid by the insured is called:

s, motor vehicle taxes are called:
~L‘u‘g (B) direct tax J?.:/l/gl/. (C) property tax
221-09-A-FO T -

- 100 x =€ , Discountx 100
el by M.P

TSI Sl
(D) principal 3
A L
(D) markup .,,IJL
ISR PSS St
A ®) 4

(C) interest ¥

(C) premium =y

income tax ~//l

ective answer sheet provided. Four possible answers A,B,C & D to each
onding circle A,B,C or D given in front of each

10
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Roll No. P o ( For-alk sessions )

Group—Iu:/ R\Ho,q -2 .
General Mathematics (Arts Group) (Essay Type) §54.) (V;f‘fﬂ) U‘ &Jdﬂ

Marks: 60 Time:2:10 Hours & 2:10:=3 60:
Section -I 2x18=36 d)'l,.-‘o
2. Write short answers of any six parts from the following. 2x6=12 -q)};agw/i"ﬁflzl‘gcéﬂ;d‘)_s@: 2
1 s 1
i. Express 37 '2‘% as fraction in its lowest form. ..u_jf - l:u.‘."ﬁuvU/?/ 37 5 %
1 8 1
ii. Express SZ% as fraction in its lowest form. <q/ & l;uﬁquTJ/ff 52% i
8 ' 8
iii. Express g fraction as percentage. Give correct answer upto 1 decimal place -u.‘{:—’ﬂn.@/li"'?/)ug‘;y(;ﬂf/ g i
iv. Express decimal 1.72 as percentage. _u:/gj_f;;uﬁ,uéf 1.72_841 v
v. Find SP, when CP is Rs.480 , Profit is 3%. &L 18804 S d SNELE L St ped
1 D 5 B
vi. Find CP, when SP is Rs.100/= and profit is 335% ) <& 3s100/=23s /28 33 5% zjiéu_)}kaj&g Vi

vii. Find the marked price, when SP is Rs.2400 and discount 4%.  -x¢ 2240083 A=d A% Lo G2 St ot Vil
1 ; v 1 ]
viii. Waseem invests Rs.5000. at 52% per annum for profit. _Llﬂg Cdi-d i 52% &-2/5000L % viii

Find the profit amount at the end of the year. ol Al ('3l?4rf7il£dv
ix. Find the profit on Rs.54,000 for one year at 12% per annum. -u/?,‘vaw_c/‘;uwz%édvx £4-1/54,000 .ix
3. Write short answers of any six parts from the following. 2x6=12 -J/(//uuj’/‘;éi’ylic—df&a(ﬂ(j)cj) -3

i. Find Zakat on gold amounting to Rs.1110000/=. “d/rlfd;@/ :C/WLJLLMHOOOO A
ii. Najeeb left a property amount to Rs.400000. He left behind  Kos: S md/g’,a{nfm,,dLJ%.,Aoooow_.,g i
a widow and no child. Find share of his widow. -;4,:.5&:( Kul/"i_u_/w"‘y
iii. If a deceased left a property of worth Rs.1500000/= and ,94,55;{;14; @&fm@_}t&;m 500000/=2_gf"’._1.j/l i
left behind a widow. Find share of his widow. N7 e d/ul/‘;

iv. if price of an air conditioner is Rs.40000. Find sales tax at PRy /J 16%}r¢_u40000J J /,u?'.f f R\
the rate of 16% eIk
v. If gross income of a person is Rs.45000. then find his net RS 500!:’4_5145000&4 l‘ﬂ}/d":f v

take home salary after dedution of Rs.1500 G.P fund and ?J;ﬁ/(ff&[_wﬂ&}/ JJ//Q;/Q___;Aoo
Rs.400 group insurence.

vi. Express in exponential fonn*gjz—"_: A \/_ -d/JFu:deu)’ Vi

1

vii. Write exponent and base 5 x% 2 552 -abuvwv,; vii
viii. Find the value £0g 6.304 i L0g 6.304 i
ix. Write in scientific notation 0.051. _y /it 0,081 ix
4- Write short answers of any six parts from the following.  2x6=12 _/zfelz Pl izig e b 2500 -
i. Write the first three terms ofq, = Bl . u“"g'i/u:fd.’ J a, e, 4 i
2n+5 . 2 +5

M iz



il. Find the term indicated in the sequence %% ....... d . gL %% ....... as i
fi. Find A.M between. 2 ex+l, 2t —x+l g i
iv. Find the 6™ ferm of a G.P:§-,3,—6,.______ _Q/?Pﬁq’BJ :23—,3, 6, A
v. If A={-2,1,4}, then write two binary relations in A. _uﬂ_"gyi,jél-}"”ﬁA?A={-2,1,4}fl RY
Vi, If X={0,3,5} and Y={2,4,8}, then establish any two binary relations in XXY. -u:’dyluébf»u:XXY?xY={2.4,8}J:lX={0.3,5})7 Vi
vii. If A={2,3,4} and B={1,3}. Find BxA. -J_/(J”‘BXA?B={1,3}»!A={2,3,4}fl Vil
viii. Represent the point D(6.-3) on the graph. -4;:&;.5!/7 D(6.-3),£i? viii
ix. Find the Median from the given data. 6,3,5,8,9,8,10 -e}?}'yuwélréé,) Jix
Section -II 8x3=24 (9=
Note: Attempt any three questions from the following: - f{fa&&ﬁaﬂlﬂfc—éfauﬁd_’ R 10%) WL

(a) Raheel's income is 25% more than that of Rauf. What percent J_Ji/.“;upz5%:..[};.7&.55;&;.7&)3 i, (W) .5

o

is Rauf's income less than Raheel's? Yc‘-ﬁ;éZc&ﬂJJf uéﬂ
(b) Distribute Rs.200,000/= as a profit in a business regarding Lol &;51200,000/=¢J?1J )
three persons, if their share are in the ratio 3:2:5. JS:Z:S&A/‘J!U/

6. (a) Calculate the amount of Zakat on 10 Tola gold and 40 Tola Ly)?.u_‘/r}" F/J ‘5:'646»:!_9)?40/:&:’)?10 (3 6

silver. If the rate of gold is Rs.40,000 per Tola and the rate of detg»u?&e;,mo,OOO/:oé g
silver is 5000 per Tola. ' 93¢ 25000/=4
2.61x4x10° % iz »
(b) Simplify and write your answer in scientific notation. 0 _ufguﬁrf}‘f"vb_alzmg_//f )
7. (a) How long would Rs.1250 have to be deposited at 6% per 8Wt/4c/‘; uwéeé’.zi.»/\-zgmzso i .7
year simple profit to gain Rs.750 simple profit. _uf’lga.bf (‘52_2’ L/J’ be 2750
(b) Insert four real geometric means between 3 and 96. _g“;,,,q ﬁﬁitguw&gems ()

8. (a) If gross pay of a person is Rs.45000, then calculate his %,/1200«‘;?{7%,140%:._}% A LTSS () 8

net take home salary after deductions of Rs.400 as J@ﬁﬁif,fi_moo»lb’q‘; %.311500:,‘«'3.;4'.;:!
income tax Rs. 1200 as benevalent fund, Rs.1500 as oJE B P T LUle e 2450003
G.P fund and Rs.400 as group insurance. 7
(b) If U=(7 89,......14}A={7,10,13,14} B=(7.8,11,12} A
then prove that (4NB )C =AUB° Sk
9. (a) Drawthe graph f: y=x+1 S wasS () 9
(b) Find the standard deviation for the given values  2,3,6,8,11 -e_é‘ckulf!d/ly@iféé—; )
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which gnswer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pe ink on the answer sheet provided.

|
1.1. Taxes of the form of d\ijties, motor-vehicle taxes are called tax. -ugé‘.": -:----/fdfd/gfggfﬁ;}ﬂ 7245 1A
(A) indirect  &-Wy | (B) direst =rlale  (©) property Ul (D) income I
2. In 4% 4is called: _uzgff4u:45 2
(A) exponent Ve ? | (B) base U\ (C) integer mg (D) radical sa
3. AM between 24/5 and 6+/5is: DO L NPT NCR
(A) 35 @ 55 ©) 45 ® 7V5
4. (ANB) =7 | (ANB) =7 4
@) 4°NB¢ (B A“UBS © ANB o) AUB
5. Graph of equation in tbte form of ¥ =Chas Y co-ordinate. —g byt y 4Jlfuﬁ'g)¢gf y=Czbir b
(A) -1 . B0 (©) C D) 1
6. The summary statistic# which measures the middle (center) of r/‘ﬂ;J (f/)mz/uﬁ'ép%wr 6
the data is called: 1 ~e e
(A) mean bl | (B) all of these el (C) mode b (D) median  b-s
7. ”226in terms of percan}kage is: ~§—qu)¢6/1#3576 7
(A) 35% B 35 (C) 20 (D) 20%
8. Loss is there when: | : 7‘49@@5 8
(A) SP=CP =31/ J=pfod (B) SP>CP sy el fed
(C) SP=MP  =23s/c i=od gl (D) SP<CP ey el <y fed
9. The person or entity whose insurance is being done is called: -c‘_&lkfrﬁ&kd/gf./yk;f/’jkﬁ: 9
(A) insurer u | (B) drawer U3 (C) insured L8 (D) lessee U ¥
10. The logarithm calculatLd to the base "10" is called: -uggﬂ("’ﬂééd’u: 1oy .10
(A) mantissa L | (B) characteristic ¥
(C) natural number ’Jf‘z“n’ (D) common logarithm (z/:’(b .
11. Next term of 12,16,2127 is: e ffir12,18.2127 11
(A) 30 (B 3 (©) 32 (D) 34
12. In a proportion a:b::c:d, “g" and "d" are called: ?u_r4“{/"d"ul"a"gjl._/l:'«'d/a:b::c:d=? .12
(A) extremes g,r-‘-’) (B) Consequent .:ﬁfd'. ¥ (C) Antecedents _»;1..556'.’-1 (D) Mean o
13. On a crop produced b artificial resources, Ushr is deducted: -q.L}J &if J /‘QJ" d( J&Kgéu;&” A3
(A) 5% L (B) 10% ©€) 25% (D) 25%
14. If there is one daughter aind agnatic grand-daughter, their share is respectively. -fnﬂbﬂ"c—ui)bﬁ,vu;ywz&xmf J;méj.{l 14
11 | 11 11 11
R 276 | ® 23 © 274 @ 2°8
15. The percantage of profit/ markup charged is called: _‘4[51&{ c}fJJﬂ;Jfthzdv 15
(A) time | (B) rate <o/ (C) interest (D) principal 4"
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General Mathematics (arts Group) (Essay Type) (280 (/P ¢ &JJ}Z

Marks: 60 Time:2:10 Hours &£ 2:10:=% ’ 60:
. Section -I 2x18=36 Jil
2. Write short answers of any six parts from the following. 2x6=12 -q/f/fc.yfz/géﬂzl‘;;éfc,tﬁ‘j_sau .2
i. Express percentage as fraction to its lowest form 37 -;-%. NV VAP 371% i
ii. Express fraction as percentage, give answer to one decimal place. % <q)_@/wt,?/;1b,lznufiisﬂwéf/( i
fii. Express the given ratio to its simplest form. % : %O -gﬂgﬁfubﬁulf:,ﬂfd; it
iv. Find the value of X in given proportion 20:50::8:x _é)"c,f‘f x u'ﬁ.,/b?gfd; v
v. Find the S.P when C.P is Rs.9600, profit is 10%. -10%5’:%,/9600;_7;,2.4’2@/}#&,};2 Y
vi. Find the C.P when S.P is Rs.2640, Loss is 12%. ~12% Q212640253 p 28 2 Jpbu S d i

vii. Find the marked price when S.P is Rs.2400, Discount is 4%. A%..‘u{r_:g,/2400&,}a£.éq/?)”o§uiau Vi
viii. Find the profit on Rs.54000 for one year at 12% per annum. \.‘m_/c,z,/‘n{;vv12%8%&@9&_,/54000 Viii
ix. Rate of tea in Pakistan is Rs.2.1 per pound. Find its rate (lf;gn.}qJKJL{_,‘cig(}{:uZJq/KLl_guful"/ L ix
per kilogram when 1 pound = 0.4536 kg. kLK 0.4536.511 Sl S
3. Write short answers of any six parts from the following. 2x6=12 -‘J_’/C/;&Uﬁ/zgéf’z’ia—k;!("_—‘;‘j.jall .3

i. Calculate Ushar on a wheat crop amounting to Rs.3:50,000 produced by CfLJ"Jr,cf;}lé;;éstf” i

artificial resources. -é?:”’/‘z%u&S0,000

ii. Calculate Zakat on goid amounting Rs.15,00,000/= _.ﬁ_}{p"‘&;ﬂf '5}/)/,4'_;’4::)_(.%»15,00,000 Al

iii. If the price of an air conditioner is Rs.40,000 then workout the amount (U1 #r42/40,000=4 SAALN i
of sales tax on it at the rate of 16%. vég}” ‘%JJ@Q—_L/'J 16%

iv. Khalid works 6 days in a week. Find his gross monthly wage, é_l_a_lfbigz‘?LuZOOcJﬁc, t/r(u:s Szl iv
If his rate of pay is Rs.200 per day. _ég.i?}’”;«zl;gt(f}f Ju’l?

v. The price of a bicycle is Rs.4000. If 16% sales tax is charged J 16%4;}? vvgﬂ_f_{,514ooo.;£ JJE” Lr.,g v
then calculate the amount of sales tax on 30 such bicycles. -q/EPJg)f4u9§LSOd:|?ngng)fcc /"

5 J5
vi. Determine the radical and radicand — .

& Guxnlie Ni

7
vii. Express the given expression in exponintial form. F\/:—T: ‘Q’/J'{Juff'&@ Mii
viii. write base and exponent in 18x°. - -UZJL‘;C«;JJ’JV’ 18x° .viii
ix. Simplify and express with positive indices. 287)5 ] ’ -uf’iuf l/:,}.;?.,,i_e/glé:_,_{/‘? Jix
4- Write short answers of any six parts from the following. ‘ 2x6=12 -‘,{_‘):/f:auzﬁgﬁflzgc_éfcgﬁg)’jb}: ~4
i. Write first three terms of: a,=n+3 vu_‘/?}’”(;/uf &

ii. Find A.M between x—1,x+7 . YAl x—1,x+7 i
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i Find the two binary relations in xev.if: ~ x=1{0,3,5}, = {2,4,8} S, $Entxey i
iv. Find two binary relations in A if: A={-2,1,4} N u:“glyuél’fugﬁA W
v. Represent point A(2,-4) on the graph. -Q&W{JV?A@A),&}? v
vi. Convert g7 into (- when: 5 =%(?7 —32) Lylber pf ofF i
vii. For the given data find Mode. 3,5,6,8,8,9,10 ALy i
viii. Write the 7" term of a GP 2,8,32,......-. . R IAS2,8,32, .. A i
ix. Find the two binary relations in AxB if: A= {2,3,4} , B= {1,3} :/’qu‘ilgﬂuél'fnu’.'AxB .ix
Section -II 8x3=24 (922>
Note: Attempt any three questions from the following. u‘_):/ yévmwfcéfc,ddszw HO%
(a) f 84% of a book consists of 420 pages. Find the total . g J‘/}VW420.4=>84%K..4J57 (N 5
number of pages. ?Z_unulf‘zfuf :
(b) The selling price of 12 articles is equal to the cost price of péti‘a/.lf.é,,«jof UelB1B=ss fed Sz (L)
15 articles. Find proﬁt percentage. -u‘/(}"
(a) Solve with the heip of Logarithm table. 8—61x—3—24— cf-()’ cu&)wé(‘{ g (I 6

1.78
(b) A deceased left a property of worth Rs.4500000. If he left -d;f:beJLL;ASOOOOOé L‘L—gff._f ()
behind a widow and two sons, workout the share of each. 4-! o o ol P 6Ll e S U s ssters L ikt

. (a) Pervaiz buys a window A.C at Rs.900. He pays 20% e tu e 2,900 LG U &> /J iysg (D7
deposit and the outstanding balance plus markup in 48 rﬁ,au*,ms..,u LslfB e b, & 1120%s
months. Markup on the balance charged at 10%. Find the L nl S :lﬁw:’yAMO%C/Ju 1 L/ L
amount he saves by paying cash. "Jf..i
(b) If the A.M between a and 16 is 24. Then find the value of "a". -u’/p""../’ J a?245-3%¢ 161:la/ )

(a) The total taxable income of a person is Rs.4,30,000. If he is l:Uibr_—J/ < 21/4,30,00004 LAJVJ(JJ; L () 8
given rebate Rs.3000 on the tax chargeable, then workout L/J 4. S%c,lk:.dlad:w J¢,u3000/<f:

the amount he has to pay as an income tax @ 4.5%. “K/Lfl:lf ‘f e
(b) If A={2,3,4},B={3,6,9,12} and C={4,6,8,10} then rC={4,6,8,10};5!B={3,6,9,12}¢A={2,3,4}f ()
verify that: AUBUC)=(4UB)UC Uk

(a) Draw the figures with the help of given points on the graph paper. -Z_t:dl{ﬁl/ sy \k/?ﬁ-dl/f!(bﬁ;djb/) () 9
A(0,-7) B(3,-2) C(4.,0) D(5,6) E(7.8) .
(b) The table shows the distribution of marks of 30 students in the test. _:,d/d: 2 s e S P30 s (L)

Represent the given data using frequency polygon. _c,uf,uzumfdw&l,»
Marks 0-39 40-49 50-79 80-99
Frequency 8 8 10 4
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